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What is the value of the: Write as a fraction: Copy the number line below Use the rules for these ses
and fill in the gaps using the <o find the next two term
correct values from the box. D Addfou:
CACIOA -

Subtract three:
9 2% B 2

# 7in873 @ nine hundredths
@ 6in4.265! @ seven thousandths

3 2in2947? § nineteen thousandths

® 3in8ied Complete the statements with
Write the value of each digit: ‘hundredths’ or ‘thousandths’: Add five:
3 0006 0009 s 40" %5 "0 §

— 1000 0002 0008 1000 Subtract two:
@ 7345 8 =008 n 20 18

What s the value of the: Write as a fraction: Copy the number line below and
fill in the missing numbers.

§ 3972 @ 6 ]=0006

Find the 3rd term in €
sequence described b

P 1in9314 ) fourteen thousandths
§ The ruleis subt

@ 4in4.562! ® thirty thousandths The first term ¥

3 2in 34288 9 forty-two thousandths @ The ruleisadd
# 7in3.097 Write as a decimal: The first term

Write the value of each digit: 40 nine thousandths

§ The ruleissut
The first term

9 238 0 eleven thousandths @ Therieisad
§ 14732 @ seventeen thousandths g 5 1) et

san recognise and
| know the value of and decimals. 1 can recognise
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Work out each of the
percentages below.

1
2
3

10% of 400
20% of 50
40% of 200
60% of 80
55% of 300
75% of 800

Niamh has 550 stickers.

Steve has 30% as many as Niamh.

1

Niamh loses 40% of her stickers.

2
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How many stickers
do they have in total?

How many stickers does
she have now!

What percentage of
Niamh's total stickers
does Steve have now?

100% + =

Which is smaller:
3 25% of 200 or 20% of 1507

8 60% of 600 or 50% of 700?
9) 1% of 300 or 4% of 100?

Which is larger:
0 90% of 700 or 60% of 1000

i 35% of 400 or 25% of 700

200 people vote for their
favourite ice-cream flavour.
The results are shown below:

o

o

How many people said cherry
or mint was their favourite?

aAm(X‘GCIasX ALAcnx\ +

Three friends share 2 2kg
wheel of cheese:

+ lain takes 50%
. Ben takes 20%
« Kara takes the rest

4 Ing how much cheese does
each person get!

49 How many degrees of the
cheese wheel does Ben get’

Normally, jumpers cost £22 and
skirts cost £12. In a sale, jumpers
are 25% off and skirts are 30% off.

How much would it cost to buy
) ajumper in the sale!

® askirt in the sale?

Tilly buys 10 skirts before the s21¢

# How much money would she
have saved in the sale!
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